Multiply and Divide by Powers of Ten (D)

Find each product or quotient.

8,681 :1.000 = 6,502 :1.000 =
533:0,1= 561:0,001 =
1,42 X 0,01 = 1,367 : 0,001 =
0,2x0,1= 1,09:100 =
5,01:0,001 = 1,5601:0,1 =
5,887 x 0,1 = 2,988:1.000 =
6,7:0,1= 5383:0,01 =
4,745 x 0,001 = 4,3579 x 0,01 =
1,5:1.000 = 6,618:0,01 =
3x0,01= 6,144 X 100 =
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Multiply and Divide by Powers of Ten (D) Answers

Find each product or quotient.

8,681 :1.000 =0,008681

5,33:0,1 =533

1,42 x 0,01 =0,0142

0,2x0,1=0,02

5,01:0,001 =5.010

5,887 x 0,1 = 0,5887

6,7:0,1 =67

4,745 x 0,001 = 0,004745

1,5:1.000 =0,0015

3x0,01=0,03

6,502 : 1.000 = 0,006502

5,61:0,001 =5.610

1,367 : 0,001 =1.367

1,09:100 = 10,0109

1,5601:0,1 = 15,601

2,988 :1.000 = 0,002988

5,383:0,01 =538,3

4,3579 x 0,01 = 0,043579

6,618:0,01 =661,8

6,144 x 100 = 614,4
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